NAX LT T

15 (2HAB)

F

o

SC(AA V)

2024.2.25

REEF—F X F

Vivary
FAAE
R —7
B—FEk(zF) Al FRERY 127
A3 148 A4
BEITT A2 & ¥ = YellowBears
X #f =¥
25 - 20
A]_ BF—RK(ZF) 18 - 25 *EFgEB:/ 1:7 S ¥ E YellowBears
3 - 11
15 - 25
A2 i/$737 18 - 25 S = YellowBears| #F—Eik (% F)
25 - 22
A3| &) [ 25 - 21| EEo 77 [dy 27
10 - 25
A4 *Eﬁgﬁ]g/ 127116 - 25|&®#YelowBears BHoso7

S ¥ EYellowBears
25 15
25 19
16 25
25 19
9 11
@ @ ®
B Y & 3 %
e e — —
a | Z e e
rol R R
S o Es
W ¥

IBGL | F—L4  |pt|ps| & |es|xs|BmrnE
2 |E—#Ek(&F) 1] 1(96(99| 0.97
4 |BEoy o7 0| 2|76]100
1 [|&m&vellowBears 21 0]z100]59
3 |fRERY 27 1| 1|82|96[ 0.85

NN B1 BRASVC F—EKR(EF) C1 F— LIEA
B3 248 B4 C3 348 C4
=Rk B2 =FE AW C2 T7rAY—AryY
X B =¥ X =¥
25 20 e s |20 - 25
........................... . o a%—l;_s
B1| 9vER |21 25| BkKESVC | =+ Cl 25 - 18| F—LdeAt [7rivnsoy
........................... B (B TF) |
11 9 11 - 6
25 23 25 - 15| 774
B2| 858 — &k | 25 15| =JE NN C2lsmEdME |25 - 20| v—0O | ===
- TN
14 25 o w |24 - 25
........................... e . X %_E\_ \
B3| 7 |21 25| 88 =33k | Bk SVC C3 o5 - 17| cmEavE | F— Lk
........................... B (BB F) [
11 - 10
25 21 25 - 20| 77+
B4| Bk &SVC | 23 251 =FE | B oEk CAl F—LAkM |25 - 21| v—0O | cE/v
10 11 - Aoy
IBGL | F—L  |pt|ps| & |es|xs|BmrnE IBGL | F—L  |pt|ps| & |sa|xs|BmrnE
A AN/ 1| 1]92]104/0.885 1 |E—=rEF 2| ol116f101f 1.15
1 |[EBEZEK 2| 010073 I =G 1| 1]102f95] 1.07
3 |==F 1] 1195(108]0.880 74X —nyyy 76|100] 0.76
4 |EK&ESVC 0| 2]112[114 F — LAeAt 99 97| 1.02




FlemlNA F Ay 28 QAH)  HlAEERELZ— 2024225

BLIAARFR
RSV —2 iEET- L BLOOM E—RK(ER)
REEF—F X b
D1 El (1)
448 5%H 648 BLOOM
ThEE O A mHEH @ FH EFEFT @ BHROCKS 19 - 25
25 - 22
X ik =¥ X ik =¥ X ik =Y g - 11
15 - 25 25 - 20 25 - 16 25 17
T PO . laLoombe 5l sesen | e @lemnen 5] mrmen | oo b 19
e e I B B (e s I N B —
25 - 19 25 - 9 25 - 16 @ @ ©
@|m wilos - 6| FiH |cwxis| |@[BLOOMIzs - 21f Eibh | S | @ sowueelzo - 2| WHROCKS| i NIERE
- - 8 - 11 R L bl
25 - 4 25 - 20 19 - 25 0 0 3
olxmzml ™ ms Lol ol e 5] swe lsLoon] |l mmen sl snmoss|s oo E 5 -
s I I B e I A T I — ) y
IBRL| F— L |pt|Bs|&|sx|sn|nmxsx| | NBRL| F—L |pt|Bs|&|sn|os|nesx| |NBEL| F— L |pt|Bs|&[es|on]msns
2 |LfEET - FEdE 1| 1(87]75] 1.16 1 |BLOOM 21 0] 10{69] 1.45 2 |E—=K(ES) 11 11 10| 100f 1.10
1 |ShEE 2| 0f w[60f 1.67 2 BB 1| 1]97| 12 0.95 3 |BFEF 0| 2[90[ 15 0.86
3 |HH 0| 2|48| 10 0.48 3 B 0| 2|82| 5] 0.76 1 |=HMROCKS 2| 0] 12[97] 1.05






